Virginia High School League

Scholastic Bowl, 2000-01 season

State Competition, Match #5


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the State level by Shawn Pickrell. These questions are to be used by the Virginia High School League to conduct their Scholastic Bowl competition under the following conditions, which must be known by all coaches, competitors and spectators of the competition.
(a) Release of these questions to any entity not affiliated with the Statecompetition or the schools that are members of the given State before all State champions have been announced is prohibited. This is meant to keep question security.

(b) Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all State champions have been determined. This is also meant to keep question security.

(c) After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged.

(d) These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.

First period: 15 toss-ups
1.
In most versions, he seduces a girl of noble birth and kills her father. Seeing a stone statue of the father, he flippantly invites it to dinner. It then shows up to dinner and predicts his death. In Byron’s version, he was a ‘natural’ man whose instincts ran toward love and life. In Jose Zorilla y Moral’s version, he is redeemed. Who is this legendary figure of Spanish literature best known as a charmer and a seducer?

ANSWER: DON JUAN
2.
What five-letter term refers to any protist that can perform photosynthesis and includes dinoflagellates, diatoms, golden, red, brown, blue and green varieties?

ANSWER: ALGAE
3.
What property of an ellipse is equal to the distance between the foci divided by the distance between the endpoints along the long axis, and approaches 1 the more circular the ellipse gets?

ANSWER: ECCENTRICITY
First period (continued)

4.
This great Indian ruler converted to Buddhism halfway through his reign, ending warfare and concentrating on internal improvements. Who is this ruler who ruled in the third century BC, and was the greatest of the Mauryan kings?

ANSWER: ASOKA
5.
What Russian composer wrote the works Capriccio (kah-PREE-chee-oh) Espagnol (eh-SPAHN-yohl), The Golden Cockerel, The Flight of the Bumblebee and the symphonic suite Scheherazade?

ANSWER: Nikolai RIMSKY-KORSAKOFF
6.
THIS IS A COMPUTATION QUESTION. A cube that is 3 inches on each side is sitting atop of a rectangular solid that is 6 inches by 5 inches by 2 inch. What is the total surface area of this solid?

ANSWER: 142 SQUARE INCHES (the cube has five exposed faces of 9 square inches each = 45 square inches. The rectangular solid has 30 + 30 + 15 + 15 + 8 + 8 square inches or 106 square inches. 9 of those inches are covered by the cube, however. 97 + 45 = 142 square inches)

7.
He was wounded along with Abraham Lincoln, but survived. Who is this man that served as Secretary of State under both Lincoln and Johnson, famous for negotiating the end of the Trent affair and purchasing Alaska from the Russians?

ANSWER: William H. SEWARD
8.
Susanne and Half Zantop were professors at this Ivy League institution before they were murdered in cold blood. The Zantops were professors at what school located in Hanover, New Hampshire?

ANSWER: DARTMOUTH
9.
What is the name given to a religious drama of medieval origin which deals with the suffering, death and Resurrection of Jesus Christ?

ANSWER: PASSION PLAY
First period (continued)

10.
What is the name given to a compound where oxygen has an oxidation number of negative one, therefore allowing the compound to contain more oxygen atoms than expected, an example of which as when two hydrogen atoms join with two oxygen atoms?

ANSWER: PEROXIDE (do not accept hydrogen peroxide)

11.
THIS IS A COMPUTATION QUESTION. The class clown shoots a spitball at the class bully. There is a 20% chance per spitball that the teacher will notice and discipline the clown, but after the second spitball, the class bully will get in trouble for trying to beat up the class clown. What is the chance that the bully will get in trouble?

ANSWER: 64% (80% chance of punishment the first time, yields a 64% chance of escaping punishment the second time and thus cause the bully to get mad)

12.
What name is given to the theory that the living organisms of the entire Earth form a single complex interaction system that creates and maintains a habitable Earth, named for the Greek goddess of the earth?

ANSWER: GAIA hypothesis

13.
A Swedish lawmaker has nominated what sport for a Nobel Peace Prize?

ANSWER: SOCCER or FOOTBALL
14.
What novel by Lewis Carroll is the sequel to Alice’s Adventures in Wonderland?

ANSWER: THROUGH THE LOOKING-GLASS
15.
What is the name of the two mountain ranges, given the adjectives Occidental and Oriental, that form most of Mexico?

ANSWER: SIERRA MADRE
Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
What was the name of the tribesmen that the British fought as they conquered New Zealand?

ANSWER: MAORI
1B.
What alternate name is given to Smeagol, the creature who fell into Mount Doom, destroying the One Ring in The Lord of the Rings?

ANSWER: GOLLUM
2A.
What is the error with the following sentence? Sally walked in the house.

ANSWER: REPLACE IN WITH INTO
2B.
What is the name of the oil-producing glands found in the skin?

ANSWER: SEBACEOUS glands

3A.
Dollar Sign, Marilyn and Campbell’s Soup Can are paintings from pop artist?

ANSWER: Andy WARHOL
3B.
THIS IS A COMPUTATION QUESTION. Take the line l defined by 5x – 2y = 18. What is the y-intercept of this line?

ANSWER: NINE (5x – 2y = 18 yields –2y = -5x + 18 yields 2y = 5x – 18 yields y = 5/2x – 9)

4A.
What name is given to the transfer of genetic material between two cells that are temporarily joined?

ANSWER: CONJUGATION
4B.
What is the name of the bicameral parliament in Russia?

ANSWER: The DUMA
Second period (continued)
5A.
THIS IS A COMPUTATION QUESTION. A cone has a height of 15 inches and a radius at the bottom of 4 inches. What is its volume?

ANSWER: 80 cubic inches (a circle with a radius of 4 inches is 16PI square inches, multiplied by 15 inches is 240 cubic inches and divided by 3 is 80 cubic inches)

5B.
Who wrote the novels Uncle Tom’s Children and Native Son?

ANSWER: Richard WRIGHT
6A.
When a person is released from jail on a promise to appear at court later, he or she is said to have been released on what two-word phrase?

ANSWER: PERSONAL RECOGNIZANCE
6B.
What is the name given to the part of Asgard where the souls of the heroic fallen are kept until Ragnarok?

ANSWER: VALHALLA
7A.
Who is the Cyclops that attempted to eat Ulysses and his companions?

ANSWER: POLYPHEMUS
7B.
What name is given to the effect that is observed when a beam of light of sufficiently short wavelength is aimed at a metal surface, causing an electron to be released?

ANSWER: PHOTOELECTRIC effect

8A.
‘O Fortuna’ is the most famous selection from what musical work by Carl Orff?

ANSWER: CARMINA BURANA
8B.
THIS IS A COMPUTATION QUESTION. A store sells an item for $16.80. Assuming a retail markup of 40%, what did the store buy the item for wholeale?

ANSWER: $12.00 (16.80 / 1.4 = 12.00)

Second period (continued)

9A.
What name is given to the formation of gas bubbles in a liquid, examples of which include Alka-Seltzer going into water or carbonating a drink?

ANSWER: EFFERVESCENCE or EFFERVESCING 

9B.
Who was the Chief Justice of the Supreme Court during the Dred Scott decision?

ANSWER: Roger TANEY
10A.
THIS IS A COMPUTATION QUESTION. What is three-eighths divided by its reciprocal?

ANSWER: 9/64 or NINE SIXTY-FOURTHS (3/8 / 8/3 = 3/8 * 3/8 = 9/64)

10B.
What novel by Theodore Dreiser features the character Clyde Griffiths?

ANSWER: AN AMERICAN TRAGEDY
Third period: 15 toss-ups 

1.
THIS IS A COMPUTATION QUESTION. Take line segment AB that runs between (0,2) and (-5,6). Then take line segment CD that runs between (0,3) and (9,-1). What is the slope of a line between the midpoints of those line segments?

ANSWER: NEGATIVE THREE-SEVENTHS (Midpoints are (-5/2, 4) and (9/2, 1) yielding a slope of –3/7)

2.
Who was the first woman to serve in the House of Representatives, a Congresswoman from Montana who voted against US participation in World Wars I and incredibly, World War II?

ANSWER: Jeannette RANKIN
3.
This ten-letter word starting with O is taken from the Latin word for compliance. What is this word which means compliant to excess or fawning?

ANSWER: OBSEQUIOUS 

4.
What Biblical prophet is said to have written the book Lamentations?

ANSWER: JEREMIAH
5.
What name is given to the chemical change resulting from the action of an enzyme such as the creation of alcoholic beverages by leaving them out to age long enough?

ANSWER: FERMENTATION
6.
What name is given to the velocity that is sufficient for a body to leave a gravitational pull, such as that of the Earth or the moon?

ANSWER: ESCAPE VELOCITY
7.
At first he is an industrious employee, but eventually stops working altogether, using the phrase ‘I would prefer not to.’ Eventually he ‘prefers not to’ do anything altogether, including feed himself, dying as a vagrant. Who is this title character in a short story by Herman Melville?

ANSWER: BARTLEBY THE SCRIVENER
Third period (continued)

8.
What is either name of the runner up in the original edition of Survivor that pleaded guilty to credit-card fraud?

ANSWER: KELLY WIGGLESWORTH
9.
James Oglethorpe is associated with the founding of what colony, which was founded as a debtor’s haven in 1732?

ANSWER: GEORGIA
10.
THIS IS A COMPUTATION QUESTION. A baseball pitcher gets 16, 18, 12 and 15 wins over his first four seasons. How many wins does he have to get in his fifth season to maintain a pace of exactly 15 wins per season?

ANSWER: 14 (16 + 18 + 12 + 15 = 61, so 75 / 5  =15)

11.
This mythological creature went around Lycia killing and destroying until Bellepheron killed it. What was the name of the creature that had three heads – that of a lion, a goat, and a snake? 

ANSWER: CHIMERA
12.
What King of England fled during the Glorious Revolution which put William and Mary on the throne of England?

ANSWER: JAMES II
13.
In C++, what character, repeated twice, is used to mark comments?

ANSWER: FORWARD SLASH (prompt on ‘slash’)

14.
What plant hormone is responsible for fruit ripening but inhibits the growth of roots and leaves in some species?

ANSWER: ETHYLENE
Third period (continued)

15.
What eight-letter word starting with M and taken from the French word for sickly is used to describe the act of feigning illness to avoid duty or work?

ANSWER: MALINGER
Spares
Titian, toward the end of his career, painted a picture of the rape of what Roman matron, a woman whose rape caused Tarquinus Supurbus to be overthrown?

ANSWER: LUCRETIA or LUCRECE
In what year were the February and October Revolutions in Russia which eventually saw Vladimir Lenin rise to power?

ANSWER: 1917
THIS IS A COMPUTATION QUESTION. What is the derivative of the function y equals the tangent of x?

ANSWER: SECANT SQUARED OF X OR ONE OVER THE COSINE SQUARED OF X
What novel by Norman Mailer concerns the lives of a platoon of 13 American soldiers who are stationed on a Japanese-held island in the Pacific?

ANSWER: THE NAKED AND THE DEAD
What is the name of the alternate rising and falling of the surface of an ocean or large lake caused by the gravitational pull of the sun and moon?

ANSWER: TIDE
All questions © 2001 by Shawn Pickrell. Unauthorized use, as described on the first page of this document, is prohibited.

